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@D -4 < -6 @1.2>§ ® -27<-3
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@® [1.3]+ 3.7 =4 @ [0.2] +[49] =4
@)-1.2 + 26 =1 @ [-3.1] + [-2.7] = -7

® [-4.2]+[08] =-5

@ [13]+[37=1+3=4

@ [0:2]+ [49] =0+ 4 =4

@ [-12] + [26] = -2 +2=0

@ [-3.1]+[-27=-4+(-3)=-T7
® [-4.2] +[0.8] =-5+0=-5




3. 2T ALY
O -(x+1)=-x+1 @%(9)6—6):3)6—2
® (x+6)+2=x+3 @ (-8x)+4=2x
® 2x4x = 4x?

~&B

O-(x+1)=-x-1
@ %(9x—6):3x—2

1
@(x+6)+2:§x+3

@ (-8x) +4 = -2x
® 2 x4x = 8x
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5. M AFa b, col ot axb=-6, ax(b-c)=9 L W, axc 9
*he?

@-5 @-9 03 @ 6 ® 9

ax(b-c)=axb-axc=9
(-6)—axc=9
Soaxce=-15
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